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The following Pie Charts shows the Rakesh = #F15000 Sohan = 718000
percentage break-up of the monthly lsm’ B>
expenditure and saving of two persons K. (,
Rakesh and Sohan. Monthly income of Saving Food
' 229, 23%
Rakesh is 15000 while that of Sohan is
18090, Education
Fatafaa ute =e 2 saftwar weRer 2 17%

g o AR Tl 31 J<d & T{d9rd
1 FITTAT 21 WRIT T AT AT 15000

& Adfeh AIg <ht 18000 B \mﬁx—%
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Who spends more on food and how Rakesh = F1 500% % ‘= 18000

much more than the other?

Tt AT U ATk Tl T § R g

Rakesh, ¥320 _ 3 )(
ﬁohan %330 %% {m;
)/\Rakesh 330 =33

4. Sohan, ¥320
5. None of these

Others
18%
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Who spends more on education and Rakesh = 71 5000 Sohan = 18000
approximately what % -han the
other (zw( J)? X ohain

I TITEIT UR 3TTereh @l oheelT § 3T
T R % TfereR o= Rt qet T W2

1. Rakesh, 32% R X

lZ. Sohan,34°ﬁ1§ B/ ¢ 114y,
3. Rakesh, 33% ’*BS . Hl’l
R

Others
18%

4. Sohan, 32%
5. None of these )\71 ore Q%Ci
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"Sohan = ¥18000

B Find the ratio of the expenditure of
Rakesh and Sohan?
ThIT ST AN o Tl hT ATATT ATq

SALERE NN
@ 3.48:39 3.4:3 4.37:45
5. None of these

K
‘}B’/xg/ B{}/Xé
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of the sectors representing the

Find the difference of the central angle

expenditure on others by Rakesh and

Sohan.

MRIT TR ATE FRT 31T W T hT

ufeafafera s arer e o hetr ST 6T

X 1A A 360°

1. 46.8° o
M | 360

3. 64.8° @y <16

. 64. =5 3

4.19° ’C(\B‘/.k»\’a .

5. None of these
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Rakesh = 15000

Sohan = %18000
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The charts show the number of
students who applied for different
courses and qualified in that

courses.

are fafer= urgashut o forg smaq
I AT FR 3 ATGAHAT | I
BT s WA i@ B

Total Studenis who
Applied 2100

Total Students who
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The number of students who Total Students who Total Studenfs who

uallﬁe in M. Tech. is

appr0x1mately howmuch %/of the
number of students wh ap[;lie for
e

M. Tech. ® aqémmaﬂ%rmﬁmsﬁ
! AT, M. Tech. & foTU 21maea
T ATET BTAT Shl TEAT T TR
Rramafomd? A

$
% 1S9 XH :%{x%

2.67% R % - !
3.50% , =\
4.75% 3\'/2 X = NSy Q/< \'-J)>

5. None = qu

= 15000
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K_ If the number of 0 students Total Students who Total Students who

who faipplied for M. Com. is 50% > p-3 Applied = 21000

S———

more than the number of male ’H_é_ )
<
students Whoiappllea?for M. Com. ,Q

find the numbers 0@ stum
Who(apphed for M.com. \/

Ife M. Com. %fﬁqanémw%r 5
JTAT HZAT BT kI @&IT M. Com.
o ToTT STTae T aTer I5W BTl hy
AT W 50% 2ATereR &, a M. Com. e
foTT STere o aTel g6 STt shi

AT [T i)

1.2650 2.2590 3.2450

4.2520 5. None

Quddified = 15000
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Find the difference between the Total Students who Total Students who
number of students who| applied'jor Applied = 21000 9) @ |so»Qualified = 15000

M. Sc. and MBA and the number of

students Who@in the same

course.

M.Sc. 3¥ MBA o 1T 21mae" &
T BTN kY HEAT TR THTH
UTGIShH W ITATUT STAT Sl HEAT
arer 3R AT iUl

1.2100 Q R

| . 4MBA
20%
2. 2390 3duxt— 36v %5

3. 2460 - 547_\Doy - JMx L4 < jl_%/
4.2520 -6 $o c g

=~ le., -
@ 3/ 437 4
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What is the ratio between the Total Students who Total Students who
Applied = 21000 245 Qualified = 15000

number of students who applied for
MCA and the number of students

who qualified in the same course?

MCA o fTU S1raes /i a1 B
<Y TEAT 3R AW YT § AT
TTH S ATA BT hl TEAT &k S

AU ST 22 O+
1.42:25 /J%QX\%{:%

2.25:49
3.25:19
4.21:25
5.42:29
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What is the average of the number Total Students who Total Students who
of students who qualified in M. Applied = 21000

Tech., M. Sc. and MCA course?

M. Tech., M. Sc. IR MCA ®REH
FATATERTS h ATeA BTAT chil GEIT T
ad feRaT 22

1.2150 )mx ]g
2.2240

[3- 2250 ! &Q -‘Q&SOCRJY\&)
4. 3250

5. None of these

Tech. MBA
14% ) 20%

N
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Pie chart given below shows the percentage distribution of Total male faculties = 8400

total number of male faculties in six different schools.
Total male faculties in all schools together = 8400

frer T 7T uTg ©e 8% S-S Tehell H UGW Hehtdi hi
HeT AT BT Tfavre forawoT gotiar &l

et TheAl W fUeTeRt et Tou Hehtd = 8400

HLL = for the nexd

C s @

\ Q
\’
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If the ratio of male faculties to female faculties in school A Total male faculties = 8400

and school Bis 2 : 5 and 4 : 3 respectively. Then find the
difference of total female faculties in school A and school B?
afs TheT A 3R THeT B W U6W HehTal R AigAT Hehtal A
FTTUTA THAIT: 2: 5 3 4: 3 | A1 THA A JRTHSA B FeA
ATEAT HhTIT T X ATa hITA?
A.420 B.840 C.640 D.530 E.620

Hiw. =1
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If total number of faculties in school F is 1820. Then female
faculties in school F are what percentage more/less than total
male faculties in school B?

afs Thet F  HehTal <hi et HEAT 1820 ¥l @Y het F H Wiz
T, THeT B H el T6F TR bl qor1 § foha Tfavra
atfereh/am 82

A.78.6% B. 83.67% C. 81.67% D. 84.67% E. 79.67%

H-to. .= 2

Total male faculties = 8400

A
e [10%
18% 2
20%
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What is the average of total number of male faculties in Total male faculties = 8400
school A, C and F?

THA A, C IR F W U6 HhTAT hl HeT E€EAT T 3 FohaaT 32
A.1256 B.1346 C.1546 D.1456 E. 1686

H-to.-—> %
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If total number of faculties in school A is 1340. The number
of female faculties in school B is 80 more than female faculties
in school A. Calculate female faculties in school B is what
percentage of male faculties in school A (approx.)?

AfS TheT A § HeT Rl cht HEAT 1340 ¥l Thet B § wige
HERTAT hi TEAT Thet A H HIZAT STl hl TeTT H 80 37Feres |
ThHAT B W WIEEAT HeRTaT hl TUMT i, ThHAT A W TEY HRTAT T
feReaT wfaera (e 22
A.69% B.59% C.56%

D. 459 E. 66%

(1)

Total male faculties = 8400
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The number of female faculties in schools A and B both is Total male faculties = 8400
20% more than male faculties . The number of female
faculties in school C is 50% more than male faculties. Then
calculate total number of female faculties in school A, B and
C?
THeT A 3 B 21 H AT dehtt hl €aT I6% HeRral i
T H 20% 2ATereh 8| Tohet C § Aigert forerent <ht dwar gow
HEHTIT T TAAT T 50% ATereh 21 A1 ket A, B AR C H Afget
TR hl THeT TEAT chl TUT hi?
A. 6054 B.6078 C.6068 D.605 048

L.~ 5
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